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QUESTION 1

What determines whether a clause executes?
A. guards

B. classes

C. behaviors

D. test nodes

E. parameters

Correct Answer: D

QUESTION 2

What value should insertAt be set to when adding a new value to the end of a 5-element ordered structural feature using
an AddStructuralFeatureValueAction?

A -1

B.0

C. any integer greater than 5
D. infinity

Correct Answer: D

QUESTION 3

What might a connector specify?
A. links

B. classes

C. messages

D. associations

E. dependencies

Correct Answer: A

QUESTION 4
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In the exhibit, if the incoming arrows provide three control values, how many control values are provided to the outgoing
arrow?

N/

A. none
B. one
C. two
D. three

Correct Answer: B

QUESTION 5

What is NOT true about a roles and role bindings?

A. A role binding is an association.

B. The same object may play roles in multiple collaborations.

C. Arole binding maps a connectable element to a role in a collaboration occurrence.

D. The same connectable element may be bound to multiple roles in a single collaboration occurrence.
E. A role typed by an interface specifies a set of features required by a participant in a collaboration.

Correct Answer: A
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